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Name: Kﬁ\l

HW 11-3; Coordinate Proofs with Parallelograms

Geometry

1. Given: Quadrilateral FGHI with vertices F(-2, 5), N ¥
G(-4, 1), H(-2, -3} and (0, 1) F- CT T

Prove: Quadrilateral FGHI is a parallelogram
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2. Prove the a quadrilateral with vertices A(-4, -1), BE. 1), T |
C(4, 4) and D(-3, 2) is a parallclogram, _I 1T
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3. Prove that a quadrilateral with vertices W(-1, 13, X(-3, 4), T
Y(1, 5)and Z(3, 2) is a parallelogram.
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Lesson 4: The Rhombus

A rhombus is a parallelogram with 4 congruent sides.
Properties yvon need to know about the rhombus:

A rhombus i1s a polygon with 4 sides and 4 angles.

The sum of the interior angles is 360°. [The Quadrilateral Properties]
The sum of the exterior angles is 360°.

Opposite sides are parallel. N
*Opposite sides are congruent.
*Qpposite angles are congruent.

@onsecutive angles are supplementary. [The Parallelogram Properties|

The diagonals bisect each other. >

The diagonal divides the parallelogram
into 2 congruent triangles

Rhombus

1) thombus —»
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Additional Properties

G All four sides are congruent.
@ The diagonals are perpendicular. L > R_‘\’ ¥ 'S

¢ Each diagonal bisects the pairs of opposite angles.
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3) thombus — | diagonals

4) rthombus —» diagonals bisect opposite /’s
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x 1: ABCD is athombus. If AB =(13x - 505) and CD = (2x — 76), find the value of
and the perimeter of rhombus 4BCD.
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rthombus 4BCD, the diagonals intersectat £. [f m/DAC = 18°, ﬁ




Y=< qi1des

Ex 3: In simplestradical form, find the perimeter of a rhombus with diagonals of

length 12 ¢m and 30 cm.
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Ex 4. In simplestradical form, find the perimeter of a rhombus with diagonals 12
in and 18 in.




4 Rhombus '16-'17.notebook

Ex 5: In simplestradical form, find the perimeter of a thombus with diagonals
12 in and 28 in.
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Ex 6: In rhombus RSTW, m/RST =96°. Find m/SRT.
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Ex 7: Given: ABCD is a rhombus‘ AE =CE ’

Prove: ZADE = Z{.Z'DE QW"\‘C

Statements ~_/—~—\—Reasons

\HBCD i3 avkimbusy \. GIVRW,

IE =DE ) 2. Rer(axiVe ‘
) . Khgmb — _iiLdl»,S_
. ARDE=ALDET M. 3

5. <ADE=LE 3 CPCTT
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